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GRADE 12 EXAMINATION: ADVANCED PROGRAMME MATHEMATICS — INFORMATION BOOKLET

INFORMATION BOOKLET
Algebra
~bt+/b’ —dac ¥ x o if x20
xX= Xj=
2a -x if x<0
u 7 2
len ;=’7(”+]):l+”

2 2 2

iiz _nfn+)2n+l) w . n’ L
i=l 6 3 2 6

L (e ot ot oA
37 :_(mmizm+_+_
oy 4 4 2 4
z=a+hi z¥=qg-bi

tnA+mB = tn(4B) tnd—nB = In (%)

log, x = log,

tnA" = nind
log,a

Calculus

H—>® 1

b—a & b \_n+f b
Area = lim [ )Zf (.\‘,-) IA‘"dx _ |: :|
i=1

vy pio JEED = ()
S)= ilrgre]) h dv dt dx
[7'(8)g'()dx= Fg()+C
[/)g @y = f(x).g(x)= [ g(0).S () dx+C
X=X — ZACH) V = ﬁ} y dx
T LG) :
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GRADE 12 EXAMINATION: ADVANCED PROGRAMME MATHEMATICS — INFORMATION BOOKLET

Function Derivative
x” "
sinx cos X
cos X —sinx
tan x sec’ x
cot x —cosec’x
secx secx.tanx
cosecx —COSECX.COEX
f(g) F1(2().£'()
J(x).g(x) g).S"(x) + f(x)-g'(x)
S(x) g(x).S/ (x) - f(x).g'(x)
2(®) [ef
A=—r%9 §s=rd

In AABC: a _ b _ ¢

sind sinB sinC

a’=b>+¢* —2bc.cos A
1 ]
Area =—ab.sinC
2
sin? 4+cos? A=1 1+tan® A =sec’ 4

sin(4 + B)=sin A.cos B *cos Asin B

sin24 =2sin Acos A

sin A.cos B = %[sin(A + B) +sin(4 - B)]
sin A.sin B = %[COS(A — B)—cos(4+ B)]

cosd.cos B = %[COS(A - B)+cos(4 + B)]
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1+cot® 4 =cosec’ A

cos(4 + B) = cos Acos B sin Asin B

cos’ A—sin’ 4
cos2A=42cos’ 4—1
1 —2sin® A
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